Wind at 100 hPa from ERA-Interim and ERAS and
from T639L137 OIFS runs using ERA-Interim and ERADS initial conditions at 00 UTC on 3 December 2013.

Forecast with ERA-Interim IC

Forecast with ERA5 IC

ERA-Interim

2013/12/03

2013/12/03

ERAS

ERA-torkn: wnd a1 100 hPa
©

TEIILIS7 OIFS wih ERA-Ineren G wind at 100 WPa

TB30L1S7 OFS wih ERAS IC: wind af 100 P

ERAS wid at 100 1Pa

2030 UTC + 48020131205 0 UTC 20131203 0 UTC » 42h: 20131205 0UTE 0131208
oms A oms N oms N oms
3 <0 ) 2 <0 ) = <0 X 2 0
| o p = s o = £ - o - - = N
o ) s s s 3 = s < / 5 s
ks 2 - s o e ks freos = ks
w (T & o ¢ o ¢ e o ¢ ez o
=3 es | on ! Y e es | ! Y es | oo ! y s s
= s 0 5N - 0 7 - b o 2 oL Y <0
N & (et s e e + { : s B s
oy o YA : o SRR o 5 . o
- § K
n S 35 nn & - 36 o - o - o
30 % 30 C 50 50
> - o s o s R
VA 1. % 2 (Vs X o X Vs - % & Vs o
TENLIS? OIFS wih ERA et G whd o 100 WP T630L137 OIS wih ERAS G w100 hPa ERAS e ot 10078
20131203 0 UTC » 51h: 20131205 3 UTC 20131203 0 UTC » $1h: 20131205 3UTE 0112083 UTC
oms oms 3 oms
o ‘ 5 5 > 5
™ p & o - - 65 o % - - 3
l_ # v 50 » .- 80 € 4 = js0
N / 3 7 kg z ) Vo f » € i . ) ke
[Te) e e e { <% o S e e
=3 - ! ) ey o l . es | wn y s
= N 5 . s 2o < o
N { s | s -
= £ AR o {958 o f Y o
™ 5 | : 5 | s
: o < o o
~ ) . { y 0 AN o4 y
a Ve I 0 2 Vs X 0 " V4 g
ERUn o w100 P TESNLIS? GIFS wih ERA i G wh t 100 1 TBA0L137 OFFS Wi ERAS G w100 hPa ERAS e at 10018
surc 2030 UTC + 34n: 20131205 6 UTC 20131203 0 UTC » 54n: 20134205 6 UTE 01012056 UTC
) 3 oms o
3 0 ; 2 w0 N A 0 2 o
I N 3 A 3735 * 7 - T2 o e 5 3 o
Y Y s e n 53 S | 2 o y = Lo i
n 3 [ f N o { { 9 o { o
=3 s | on } b= es | o ! oy s | o —~ &
= Z o Z S o XA o ) o
N (g s fra s fro < s § s
el ¢ 0 [ e = n £ X o ; o
™ o s | o o 6 | > 5 | G o
~N $ 20 ¢\ 3 LN B = ¢ { ~
s o 10 R~ 7} 3| 1o < e ] 0 R o 12 % e s 0
v \ |, | o f == - k| - > “ - B | -~ T + K
TELIZ? OIFS wih ERA et G, whd ot 100 hPa TS30L137 OIFS wih ERAS G t 100 hPa ERAS e at 1001PS
20131203 0 UTC » S7h: 20131205 3 UTC 20131203 0 UTC » $Th: 20131205 5 UTC 01312053 UTC
N 0w R s
) A 50 2 2 0
= o e : / e o - A A
B ) 8¢ / p 0 \ » P n
(7] > 7 S es - 77 - es = St > s
n § s E i ° i 3 *
P4 i b =y ss | w b SN ss | wn ) SR, < Jss
— ‘-'< 1\ e 50 % s0 ] 50
N R ( s N (e’ s f -
oy e P n 3R AN o o
™ & % | s Sl - 55
50 3 0 0
S - o 3 { 10 S Sy 5 5 s 10 LA 3 I 10
— 253 [ | o e e + K B = E
ERk o w100 P TELIZ7 OIES wih ERA et G, whd o 100 WP TH0L137 OIFS wih ERAS G w100 hPa ERAS e at 1001P8
3120512 UTC 201312030 UTC « éan: 2013-12.08 12U7C 201012030 UTC » ean: 20131205 12UTC 2013.12.08 12 UTC
oms N oms oms v
(&) o W 2 w A “ \ A o
h - E o M 3 os | v | D s
=) £ i 50 . e Y NG 0 S o0
o SR d ; 2 ) A " £ ) w
-~ 65 Ziw 77 Y 65 - 4 - 5 s S 7/ > es
- ¢ = o ¢ 3 lco N co
wn ! s | o { s | o = s | o ! 5 s
(=4 % g o 3 o o o
N o ! s 3 s L = L
3 A5 3 ¢ - B o
-~ y 1
- —r 5 | sw o > 35 . 35 ) i s
I . i — i ] b
- L o 23 N 2 o s S (e 4 o5
o ¢ ] £ c = S g - 0 = -y 0
ot - 0 ~ e —r } 10 P SR -} 10 . - P ] 0
d B o =S e ) | o et | 2 z A




20131205 15 UTC

ERAS; i a 100 1Pa

40,
¥

wird a1 100 1Pa

3120521 UTC
ERAS wied at 100 1Pa
21312060 UTC

ERAS; Wi i 100 1Pa

RS,

TE30L137 OFS wih ERAS IC; wend &t 100 P
201312030 UTC + £3n: 20131205 15 UTC

Hi

o5

e
e
e

e
e

TBI0L137 OFS with ERAS IG; wid a 100 hPa
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TBI0L137 OIFS wih ERA-inferim I wind t 100 hPa
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OIFS wih ERA-Inlern IG; wind ot 100 hPa
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TB30L137 OIFS wih ERA-inlerim K5, wind at 100 hPa
201312030 UTC + 66h: 2013.1205 18UTC
TBIOL137 OIFS wih ERA-intarim I wind at 100 hPa
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